MARACHI WATER & SEWERAGE BOARD OFFICE OF THE DIRECTOR (DESIGN & ESTIMATE)

BID EVALUATION REPORT

1	Name of Procuring Agency:	KARACHI WATER & SEWERAGE BOARD				
2	Tender Reference No:	SPPRA Serial No.33254 I.D No				
3	Tender Description/Name of Work/Item:	PROVIDING & FIXING MECHANICAL WORKS PUMP SET NO.03, TYPE B-12-B AT GHIZRI PUMPING STATION, CLIFTON (E&M-WATER), DISTRICT SOUTH, KW&SB				
+	Method of Procurement:	Single Stage (One Envelop)				
5	Tender Published:	Through SPPRA Web Site				
6	Total Bid Documents Sold:	2 Nos				
7	Total Bid Received:	2 Nos				
8	Technical Bid Opening Date (if applicable):	N/A				
1)	No. of Bid Technically Qualified (if applicable)	N/A				
10	Bid (s) Rejected:	NIL.				
11	Financial Bid Opening Date:	01-06-2017				

BID EVALUATION REPORT

S#	Name of Firm / Bidder	COST OFFERED BY THE BIDDER	RANKING IN TERMS OF COST	COMPARISON WITH ESTIMATED COST	REASON FOR ACCEPTANCE / REJECTION	REMARKS
1.	M.s.Hassam & Brothers	Rs.9,98,724/-	Lowest	a 9.366% Above	Pay order and other required documents are available. P.O#18031320 dt:08-05-2017 Rs.20,000/-from HBL Sindh Secretariat Branch Karachi	Substantially Responsive
2	M/s.Sarena Enterprises	Rs.10,10,790/-	2 nd Lowest	a 10.687% Above	Less amount Pay order and other required documents are available. P.O# 18031319 dt:08-05-2017 Rs.20,000/-from HBL Sindh Secretariat Branch Karachi	Substantially Responsive

The all concerned bidders are being informed accordingly.

The E.E. Concerned for compliance of Rule-45 of SPPRA 2010 M/s. Hassam & Brothers declared as the lowest responsive bidder by the Committee and recommended for sanction from Competent Authority.

(Muharlunad Na D.A.O (Dist. South) Member

(Aftabalam Chandio) S.F. (District South-B)

Member

(Saif-ul-Haque) Additional Director Internal Audit - KMC Member

(Magsodd Ahmed Shaikh) Superintending Engineer (KMC) Member

(Saleem Anmed) Director (Design & Estimate)

02/06

Convener

COMPARATIVE STATEMENT

Name of Work: PROVIDING & FIXING MECHANICAL WORKS PUMP SET NO.03, TYPE B-12-B AT GHIZRI PUMPING STATION, CLIFTON (E&M-WATER), DISTRICT SOUTH, KW&SB

Item	Description of Work	Estimated Cost -					M/s.Hassam & Brothers		M/s.Serena Enterprises	
No		Quan	tity	Rate	Per	Amount	Rate	Amount	Rate	Amount
1	Dismantling & re-assembling of Deep Well Turbine (DWT) Pump all type	1.00	Job	4865.00	P/Job	4,865.00	5351.00	5,351.00	5355.00	5,355.00
2	Manufacturing Providing of Mild Steel Column Pipe assembling included socket, gun metal pipe for pump type B- 12-B having three following size (iii) Gun Metal Pipe Length 4" dia thickness 3/8"	10.00	Rft	1461.80	P/Rft	14,618.00	1607.98	16,079.80	1609.00	16,090.0
	Manufacturing, Providing of Gun Metal bearing sleeves having size 6" length dia 2" dia thickness 3/8" Weight 2.16 Kg for pump type B-12-B.	4.00	Nos	1723.00	Each	6,892.00	1895.00	7,580.00	1899.00	7,596.0
4	Manufacturing, Providing of Stainless Steel Clamping Sleeves having size length 5" inch dia 2" inch thickness 3/8" weight 2 Kg for pump type B-12-B	4.00	Nos	1743.00	Each	6,972.00	1917.00	7,668.00	1925.00	7,700.0
5	Manufacturing Providing of Cast Iron Wearing Ring having size O.D=8" inch I.D=6" inch thickness = 2" inch, weight 4 Kg of pump type B-12-B	4.00	Nos	1670.00	Each	6,680.00	1837.00	7,348.00	1840.00	7,360.0
6	Manufacturing, Providing of Gun Metal Bowl Sleeves having size 4" inch dai 2" inch thickness 3/8" of Pump B-14-B	4.00	Nos	1450.00	Each	5,800.00	1595.00	6,380.00	1600.00	6,400.0
7	Manufacturing, Providing of Gun Metal Sand Guard having size 5"length dia 2"dia thickness 2.29Kg for pump type B-12-B	2.00	Nos	1766.00	Each	3,532.00	1942.00	3,884.00	1950.00	3,900.0
8	Manufacturing, Providing of S.Steel column shaft for pump type B/12-B having size length 4'.6" & dia 45mm2 dia threading, polishing, throughing and making key etc as required asnd as per direction of the Engineer Incharge	1.00	No	6648.00	Each	6,648.00	7313.00	7,313.00	7313.00	7,313.0
9	Manufacturing, Providing of Carbon Steel Column shaft pump type B-12B having size length 10' dia 35 mm2 threading, polishing, throughing and making key etc as required asnd as	1.00	N-	6064.00	Fach	6.064.00	6670.00	£ £70.00	6600.00	6 600 (
10	per direction of the Engineer Incharge Manufacturing, Providing of Carbon Top shaft pump type B- 12B having size length 5' dia 35 mm2 threading, polishing, throughing and making key etc as required asnd as per	1.00	No	6064.00	Each	6,064.00	6670.00	6,670.00	6690.00	6,690.
	direction of the Engineer Incharge	2.00	Nos	4948.00	Each	9,896.00	5443.00	10,886.00	5450.00	10,900.

Name of Work: PROVIDING & FIXING MECHANICAL WORKS PUMP SET NO.03, TYPE B-12-B AT GHIZRI PUMPING STATION, CLIFTON (E&M-WATER), DISTRICT SOUTH, KW&SB

Item	Description of Work			Estimated	Cost		M/s.Hassam & Brothers		M/s.Serena Enterprises	
No			tity	Rate	- Per	Amount	Rate	Amount	- Rate	Amount
11	Manufacturing Providing of Bronze Impellers of Pump Type B- 12-B	4.00	Nos	8220.00	Each	32,880.00	9042.00	36,168.00	9050.00	36,200.00
12	Providing & Fixing chain pully block of 02 Tons capacity with chain of 5 meter length as per site requirment & instruction of Engineer Incharge (Ghizri P/S & Boat Basin P/S)	2.00	Nos	27375.00	Each	54,750.00	30112.00	60,224.00	30112.00	60,224.00
13	Providing & Fixing overhead gantry travelling with 6 meter chain as per site requirement & instruction of E/Incharge (Ghizri P/S (01 No) & Boat basin P/s (02 Nos)	3.00	Nos	21925.00	Each	65,775.00	23347.00	70,041.00	23350.00	70,050.00
14	P/F Water pressure gauage 0-15 kg/cm.sq laongwith pressure chock and other material requird (Set No.1,2,&3)	3.00	Nos	2744.00	Each	8,232.00	3018.00	9,054.00	3018.00	9,054.00
15	C.I Sluice Valve heavy pattern (Test Pressure 21.0 Kg/sq.com or 300 lb/sq.inch) (Imported).	3.00	Nos	17940.00	Each	53,820.00	19734.00	59,202.00	19750.00	59,250.00
16	Reflex valve commercialpattern (Test pressure 10 Kg / Sq. cm or 150 lbs/sq.inch) 8" dia	3.00	Nos	5625.00	Each	16,875.00	6187.00	18,561.00	6190.00	18,570.00
17	P/F M.S Bend fabricated with 1/4" inch thick M.S plate having an outer length and total weight and total weight as mentioned against each item 8"dia	3.00	Nos	4330.00	Each	12,990.00	4763.00	14,289.00	4765.00	14,295.00
18	Providing & Fixing M.S Flange made of M.S Plate having a thickness and total weight as mentioned against each item i/c the cost of making holes, facing, welding, nut bolts, rubber packing with lead fitter, cartage etc complete	15.00	Nos	1973.00	Each	29,595.00	2170.00	32,550.00	2180.00	32,700.00
19	Manufacturing, supplying & fixing black steel M.S pipe made out of M.S sheet conforming API 5L grade X-42 & spirally welded & externally asphalt coated with fiber galss 5mm thick (3 layer) & internally C.C lining 6.5mm thick (AWWA Specification) i/c laying jointing with helical welding in trenches i/c cost of bends of any degree & testing with water specified pressure (Straight) 8" dia	55.00) Rfi	2280.87	P/Rft	125,447.85	2508.95	137,992.25	2510.00	138,050.00

Ma. Why

7

Sand Of

Name of Work: PROVIDING & FIXING MECHANICAL WORKS PUMP SET NO.03, TYPE B-12-B AT GHIZRI PUMPING STATION, CLIFTON (E&M-WATER), DISTRICT SOUTH, KW&SB

Item	Description of Work	Estimated Cost					M/s.Hassam & Brothers		M/s.Serena Enterprises	
No		Quant	ity	Rate	Per	Amount	Rate	Amount	Rate	Amount
20	P/F Steel Girder MS Tee & Plate including welding, fabricated for installation of overhead gantry crane, pump foundation as per site requirement & instruction of Engineer Incharge. (Ghizri P/S & Block-5 P/S) Girder size 8" x 4". Girder Weight 1 Rft = 18 Lbs 40' x 5 No = 200' 18' x 8 Nos = 144'									
	35' x 2' Nos = 70 Misc = 25' x 2' - 50' A- 464' x 18 x 0.4536 = 3788 Kgs M.S Plate B- 2'x2'x1' No x 40.80 x 0.4536 = 74 Kgs. A + B = 3788 + 74 Kgs = 3862 Kgs	3862.00	Kgs	97.18	P/Kg	375,309.16	106.00	409,372.00	109.00	420,958.00
21	Making connection delivery pipe line to manifold and existing rising including welding fabricating as per site requirement and instruction of E/Incharge.		No	20621.00	Each	20,621.00	22683.00	22,683.00	22695.00	22,695.00
22	Complete overhauling of Electric Panel by dismantling cleaning, replacement of fuse, replacement if cartages, overhead wire to whole system and repairing switches etc testing commissioning for 60 HP, Set No.1, 2 & 3 (Ghizri P/S)		Job	14978.00	P/Job	44,934.00	16476.00	49,428.00	16480.00	49,440.00
	TOTAL QUOTED / CORRECTED COST					913,196		998,724		1,010,790

(Muhammad Nawaz Khan) D.A.O (Distt. South)

Member / Secretary

(Saif-ul-Haque) Addl. Director Internal Audit KMC - Member (Maqsood Ahmed Shaikh) Superintending Engineer (K.M.C) Member (Aftab Alam Chandio) S.E (District South-B) Member (Saleem Almed)
Director (Design & Estimate)
Convener

VIT Sr. No. SPPRA Serial No.33254

Method of Procurement:

Single Stage Single Envelope.

PROVIDING & FIXING MECHANICAL WORKS PUMP SET NO.03, Name of Work:

WATER), DISTRICT SOUTH, KW&SB

MINUTES OF BID OPENING MEETING.

TYPE B-12-B AT GHIZRI PUMPING STATION, CLIFTON (E&M-

A meeting of the procurement committee of this department was held on 01-06-2017 for opening the bids received in respect of subject NIT till deadlines of submission. The meeting was attended by all / following members of the procurement committee and the representative of bidders.

(Attendance sheet is enclosed).

- Two bidders submitted their bids till the deadline of submission. 2.
 - i. M/s. Hassam & Brothers
 - ii. M/s. Sarena Enterprises
- The bids were opened at 11:30 A.M in the presence of the above mentioned 3. participants and the rates quoted by bidders were read aloud and encircled by Chairman of the Procurement Committee.

S. No	Name of Firm	Quoted Price	Amount of Bid Security	Pay Order No. / Date
1.	M/s.Hassam & Brothers	Rs.9,98,724/-	Rs.20,000/-	P.O # 18031320 dt:08-05-2017 from HBL Sindh Secretariat Branch Karachi
2.	M/s.Sarena Enterprises	Rs.10,10,790/-	Rs.20,000/-	Less amount P.O Attached. P.O # 18031319 dt:08-05-2017 from HBL Sindh Secretariat Branch Karachi

- The bids do not contain any cutting or over-writing. 4.
- 5. The committee shall examine all the bids as per the qualification / eligibility criteria provided in the bidding document and verify the documents and bid security submitted by the bidders (if required).

The meeting ended with the vote of thanks to and from the chair.

(Muhammad Nawaz Khan) D.A.O (Dist. South)

Member / Secretary

Additional Director Internal Audit - KMC Member

(Magsood Ahmed Shaikh)

Superintending Engineer (KMC)

Member

(Aftab Alam Chandio)

S.E (District South-B)

Member

(Saleem Ahmed

Director (Design & Estimate)

Convener

NIT No.SPPRA Serial No.33254

Method and procedure of procurement: Open Competitive Bidding (National/ International Competitive Bidding) (Single Stage-One Envelope)

Description of work:

PROVIDING & FIXING MECHANICAL WORKS PUMP SET

NO.03, TYPE B-12-B AT GHIZRI PUMPING STATION, CLIFTON

(E&M-WATER), DISTRICT SOUTH, KW&SB

Date of Opening:

01-06-2017

BIDDERS' ELIGIBILITY/ QUALIFICATION REPORT

Eligibility/ Qualification Criteria:

S.		Bidders' Name				
No.	Eligibility / Qualification Criteria	M/s.Hassam & Brothers	M/s.Sarena Enterprises			
1.	Registration with PEC (if applicable)	N/A	N/A			
2.	NTN	Yes	Yes			
3.	Sales Tax Registration	N/A	N/A			
4.	Registration with Sindh Revenue Board (SRB)	Yes	Yes			
	Qualification Criteria:					
5.	Minimum three years' experience of relevant field.	Yes	Yes			
6.	Turnover of at least last three years	Yes	Yes			
7.	Required Bid Security is attached.	Yes	Yes			
8.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization letter.	Yes	Yes			
9.	Any other factor deemed to be relevant by the procuring agency subject to provision of Rule-44	N/A	N/A			
10.	Qualified/ disqualified	Qualified	Qualified			

(Muhammad Nawaz Kha D.A.O (Dist. South) Member / Secretary

(Aftab Alam Chandio) S.E (District South-B) Member (Saif-ul-Haque) Additional Director Internal Audit – KMC Member (Maqsood Ahmed Shaikh) Superintending Engineer (KMC) Member

(Saleem/Ahmled)
Director (Design & Estimate)
Convener



KARACHI WATER & SEWERAGE BOARD

ATTENDANCE SHEET OF CONTRACTORS

NAME OF WORK :-

PROVIDING & FIXING MECHANICAL WORKS PUMP SET NO.03 TYPE B-12-B AT GHIZRI PUMPING STATION, CLIFTON (E&M-WATER), DISTRICT SOUTH, KW&SB.

Date of Opening & Time :- 01-06-2017, At 11.30 am. 1.

2. Estimated Cost: Rs.9,13,196/=

3. Serial No.: SPPRA SERIAL NO.33254

SR.NO.	NAME OF FIRM	NAME OF REPRESENTATIVES & DESIGNATION	SIGNATURE
1	HASSAM AND BROTHERS	Hassam	Jaz
2	HASSAM OND BROTHERS	ASLAM	A
			44
			f)
		,	(6)
		s	